Pedigree Practice


1. Using the following information, create the three Punnett Squares for:

John and Stacy


David and Kelly

Molly and Jason

2. Then draw and label the pedigree for the family’s three generations.

    Track the recessive trait of - does not have a cleft chin.
R = Has a cleft chin            r = Does not have a cleft chin

John had a cleft chin and married Stacy who did not have a cleft chin. 

John was pure for the cleft chin trait.

They had a son and a daughter – David and Molly.

David married Kelly who was pure for the cleft chin trait.

They had two daughters. One daughter was pure for the trait and the other was a carrier.

Molly married Jason who did not have a cleft chin. 

They had two sons and one daughter. Of the three children only one son had a cleft chin.

	
	

	
	


	
	

	
	


	
	

	
	


